	CIS 601 Quiz 9

	Name:

	TUId (4 digits)   _ _ _ _


	Q1 (3 points): What’s the major drawback of the measure for polygon similarity proposed by Basri (minimizing the integral in tangent space) ? 
How is this problem solved in the polygon measure presented last class (Latecki/Lakaemper), which uses Basri’s integral approach as the underlying measure? 




	Q2 (4 points):  
Draw the correspondence graph for the comparison of 2 shapes S1, S2, where S1 is decomposed into 3 parts, S2 into 4 parts.


	


	Q3 (3 points): 

The following matrix defines mutual distances between 5 shapes. 
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Please check the metric properties:
Identity:

Symmetry:

Triangle inequation (check distances between shapes 1,2,3!):




